Problem 3 (25 points)

In one of the lecture demos, a large capacitor was charged using
a power supply with on output voltage of 4000V and internal
resistance of 10kOhm. Assume that at times t < 0 the capacitor
is completely uncharged. Then the switch is moved to position
a to charge the capacitor.

(a) Sketch how the charge Q on the capacitor will change as a

function of time fort < 0.

(b)At which time t will the power delivered by the power
supply by maximal? Explain in one or two sentences.

(c) What is the maximum power provided by the power
supply?
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